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Spring '07/MAT 117/Worksheet 4 Name: Show all your work.
Group 2 3 4 i fi T ) g
15-vear | 520 | 520 | 520 | 605 | 605 | 605 | 7.55 | V.65 | 7.65
d0-vear 85 | 5,88 | 5,588 | 6.33 | 6.33 | 6.33 | 8.00 | 8.00 | 500
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A family buying a home will need to take out a loan for 5150.000. They can afford payments
both on a 15-year loan (which are higher) and a 30-year loan, but are trying to decide what

15 better for them in the long term.
1. (7pts) Compute the monthly payment R; on the 13-vear loan if the interest rate is
7o, compounded monthly. Find the total paﬂnents that the family made on this loan.

el "*‘Jﬁ‘ff’_
g 25

hfﬂ
|S0000) = _@ e

0.00504] .. To LY F%%__,.dﬁ_,_
[2(5.8¢- 120= 728,571, 3

|50000 - R 118.1250..

2. (Tpts) Compute the monthly payment R on the 30-year loan if the inferest rate is
6.2} %, compounded monthly, Find the total payments that the family made on this loan,
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Now we consider how much this family could save in 30 years. Suppose they can deposit
money in an account bearing AR, compounded monthly.

3. (Tpts) If the family took the 15-year loan, after 15 years it doesn't have a monthly
payment, so for the remaining 15 years it can put the monthly payment H; into savings.
How much is in the savings account after 15 years?
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4. (7Tpts) If the family took the 30-yvear loan, it will have a monthly payment throughout the
30 vears. However, since the family could have afforded the higher payment i, we assume
thev can put the difference D = B, — R into a savings account every month for all of the
30 vears. How much is in the savings account after 30 years?

D= 12¢6,8- 73.%= 538, 15
F= 33¢.45 {id ) =
/ot :r
). o0 90 i
9 (1.95%.} —
5384¢. —?EEE__ = ?4r/£ fz‘:‘ﬁzgﬁjy

5. (2pts) What option ends up with more money in the savings account at the end of 30
vears? What other considerations might come in when (:*hr:u:nsu‘aCF the term of the loan?
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Spring '07/MAT 117/Worksheet 4 Name: Show all your work.
Group | 1 2 3 | 4 i Boali & 7 8 | @
15-year | 520 | 5.20 | 520  G.06 | ﬁ 05 | 6.06 | 7.58 | 7.55 | V.55
30-venr | 5.88 | .88 | 5.E8 6.33 | 6.33 | 6.33 | 8.00 | B.00 | 8.00
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A family buying a home will need to take out a loan for $150,000. They can afford payments
both on a 15-vear loan (which are higher) and a 30-year loan, but are trying to decide what
is better for them in the long term.

(7pts) Compute the monthly payment R; on the 15-year loan if the interest rate is
%, compounded monthly. Find the total payments that the family made on this loan.
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(Tpts) Compute the monthly payment Rz on the 30-year loan if the interest rate 1s
%, compounded monthly. Find the total payments that the femily made on this loan.
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Now we consider how much this family could save in 30 years. Suppose they can deposit

money in an account bearing % compounded monthly.

3. (7pts) If the family took the 15-year loan, after 13 years it doesn’t have a monthly
payment, so for the remaining 15 years it can put the monthly payment 7 into savings.

How much is in the savings account after 15 years?
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4. (Tpts) If the family took the 30-year loan, it will have a monthly payment throughout the
30 vears. However, since the family could have afforded the higher payment R,, we assume

they can put the difference D = R; — R; into a savings account every month for all of the
30 years. How much is in the savings account after 30 years?
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5. (2pts) What option ends up with more money in the savings account at the end of 30
years? What other considerations might come in when choosing the term of the loan?




